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3. B E G EAH] 800 0 800| BHE 3 -2 H] © 800,0000*13] = 800,000
1AL ZAEA LSS 480 44 436 | A A ALLHAE © 60,000983] = 480,000
5.3 AT I 1,698 0 1,698 713 @ 75,0009%129 = 900,000
o YRY 85009129 = 102,000
TLEEF :32,0009%129 = 384,000
AR FEE 0 26,0009%129 = 312,000
9. [=]AAE T8 0 35,392 -35,392
1. dnkpgn) 0 35,392 35,392
3.3 e #e 2,700 3,150 -450
1.385-m3 e 2,700 3,150 -450
1.[Z]TPR3] e 2,700 3,150 -450
1. dnkpgn) 2,000 2,400 -400 %L%Eﬂ%ﬂzgx]%%ogﬂl 500,0008+2 1,000,000
A3} 2025 049 099 13A] 33% 53% 26 CRR=TA I e BSOS




: 500,000%23] '= 1,000,000

2.9 600 600 0|3 A4=7 4] © 300,000 +23] 600,000

iy

ZFoln] 1 10,00090#57 23] =

100,000
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